## SEMINOLE COUNTY BOARD OF COUNTY COMMISSIONERS

### **CHANGE ORDER**

**CONSTRUCTION PROJECTS** 

CONTRA	ACTOR: Insituform Technolog	ies, LLC.		Date: 4/26/2024
Contract	No.: <u>CC-4845-23/HSM</u>	Project Name: Highla	nd Pines - Grahar	n Road Gravity Sewer Rehab
Change (	Order No.: 02	Wor	k Order No.: (if ap	plicable)
Original (	Contract / Work Order Amount:			\$ 2,639,048.00
Amount p	orior to this Change Order, if differ	rent:		\$_2,716,660.90
Change (	Order Amount: X Increase	Decrease	■ No Chang	\$ <u>171.745.30</u>
Revised (	Contract / Work Order Amount ind	cluding this Change Order	:	\$ <u>2.888.406.20</u>
Change (	Order Time: X Increase	Decrease	☐ No Chang	e <u>45</u> Days
Date of S	Substantial Completion through thi	s Change Order:		Oct. 12, 2024
Date of F	inal Completion through this Char	nge Order:		Nov. 11, 2024
This Char	ne original Agreement other than matted  nge Order does orXX  of the Architect or Engineer of Re  County Project Manager:	_ does not involve chang	es to the design of Manager.	the project, which would require the approval and Contractor:
Name:	Tammy Ryan Pelkey			
Address:	500 W Lake Mary Blvd	William White, P.E 500 W Lake Mary		Insituform Technologies, LLC
	Sanford, Fl. 32773	Sanford, Fl. 3277		
Sign:	Tammy Ryan Pelkey			Ryan Graham 4/29/2024
Date:	4/29/2024	· <u>·</u>		4/29/2024
PURCHA	SING AND CONTRACTS DIVISION	ON:		
Signature:	:	Date		
As authori	Procurement Administrized by Section 3.554, Seminole 6			
WITNESS	3:		WITNESS:	
	For Board approved Items:	Meeting Date:		Item #

# SEMINOLE COUNTY CHANGE ORDER ATTACHMENT

	et Name: <u>Highland Pines-Graham Road GS Reha</u> ge Order No. <u>(02)</u>	-		ject/Agreeme 02102855		
ltem	Description	Qty	Unit	Unit Price	Qty Incr/D	Amount
1	Line Item 11 – Inside Lining of Gravity Sewer, 8-inch	3105	LF	\$35.90		\$111,469.50
2	Line Item 10 Cleaning & Inspection of the Mainline Gravity Sewers, All Diameters	3105	LF	\$3.25		\$ 10,091.25
3	Line Item 17 – Inside Lining of Sewer Laterals 10.1ft – 30ft	32	Each	\$4,715.00		\$150,880.00
4	Line Item 18 – Inside Lining of Sewer Laterals 30.1ft – 40ft	1	Each	\$5,300.00		\$ 5,300.00
5	Line Item 19 – Inside Lining of Sewer Laterals Lengths above 40ft	90	LF	\$65.00		\$ 5,850.00
6	GeoKrete Geopolymer Liner 1" Manhole Lining	55	VF Vertical Foot	\$217.81		\$ 11,979.55
8	Line Item 22 – Sewer Point Repairs – Gravity Sewer To be deducted from the original	-3	EA	\$41,275.00		-\$123,825.00
Γotal:				-		\$171,745.30



580 Goddard Avenue Chesterfield, MO 63005 www.insituform.com Name: Kenny Boeh Title: Commercial Manager – FL

Phone: 412-310-8826

Fax: 813-627-0006 Email: kboeh@aegion.com

monuncian i commonograci, mase ne le calendaria, jo i mogram componencia.

4/30/2024

CO-2



## 7ammy Ryan Pelkey

Project Manager II
Utilities Dept. | Engineering
O: (407) 665-2137 | C: (407) 314-6885 | F: (407) 665-2029
500 W. Lake Mary Blvd
Sanford, FL 32773-7441
tryan02@seminolecountyfl.gov

Project Name: Proposal - Additional Lining - CC-4845-23 -HSM- Highland Pines-Graham Road Gravity Sewer Rehabilitation Project #: 142430, Seminole County, Highlands Pines-Graham Rd. Gravity Sewer Rehab (CC-4845-23/HSM), Seminole County FL

PO#: TBD

#### \*PROPOSALPRICING:

Item	Description	Unit	Qty	Unit Price	Total Price
1	Light cleaning and CCTV inspection 8"	LF	3,105	\$3.25	\$10,091.25
2	Mainline CIPP Lining 8"	LF	3,105	\$35.90	\$111,469.50
				Total	\$121,560.75

#### Submitted By:

Kenny Boeh Commercial Manager – Florida Insituform Technologies LLC



\*Proposal quantities identified are estimated based on information available at time of proposal. Customer shall be invoiced at actual quantities at the above unit prices.



580 Goddard Avenue Chesterfield, MO 63005 www.insituform.com Name: Kenny Boeh Title: Commercial Manager – FL

Phone: 412-310-8826

Fax: 813-627-0006 Email: kboeh@aegion.com

5/1/2024

CO-3



## 7ammy Ryan Pelkey

Project Manager II
Utilities Dept. | Engineering
O: (407) 665-2137 | C: (407) 314-6885 | F: (407) 665-2029
500 W. Lake Mary Blvd
Sanford, FL 32773-7441
tryan02@seminolecountyfl.gov

Project Name: Proposal -Lateral and MH Lining - CC-4845-23 -HSM- Highland Pines-Graham Road Gravity Sewer Rehabilitation Project #: 142430, Seminole County, Highlands Pines-Graham Rd. Gravity Sewer Rehab (CC-4845-23/HSM), Seminole County FL

PO#: TBD

#### \*PROPOSAL PRICING:

Item	Description	Unit	Qty	Unit Price	Total Price
1	Inside Lining of Sewer Laterals 10.1ft - 30ft	EA	32	\$4,715.00	\$150,880.00
2	Inside Lining of Sewer Laterals 30.1ft - 40ft	EA	1	\$5,300.00	\$5,300.00
3	Inside Lining of Sewer Laterals Lengths Above 40ft	LF	90	\$65.00	\$5,850.00
4	GeoKrete Geopolymer Liner 1"	VF	55	\$217.81	\$11,979.55
				Total	\$174,009.55

Submitted By:

Kenny Boeh Commercial Manager – Florida Insituform Technologies LLC



\*Proposal quantities identified are estimated based on information available at time of proposal. Customer shall be invoiced at actual quantities at the above unit prices.